
SEMESTER 2

1. Choose the correct option.
a. The time on this clock is
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i. 		5:40 ii. 3:43 iii. 4:43 iv. 3:50
b. 2 h 45 min =

i. 245 min ii. 165 min iii. 145 min iv. 265 min
c. 9 min 37 s =

i. 		937 s ii. 537 s iii. 977 s iv. 577 s
d. 573 s =

i. 9 min 33 s ii. 5 min 73 s iii. 9 min 73 s iv. 5 min 33 s

2. State whether the following statements are true or false.
a. 2:49 p.m. in the 24-hour clock = 1449 hours

b. 12 noon = 24 hours

c. The time duration from 3:15 p.m. to 8:10 p.m. is 4 hours 55 minutes.

d. 23 months = 1 year 7 months

3. Match the following.

a. 2400 i. 2 days

b. 3 weeks 1 day – 2 weeks 6 days ii. Leap year

c. 2 hours 7 min iii. 4 hours 55 minutes

d. 295 min iv. 7620 s

4. Solve the following questions.
a. 3569 s = ______ h ______ min ______ s
b. 9:55 p.m. in the 24-hour clock = ________
c. How many days are there from September 21 to October 3?
d. The bus left for Chennai at 8:10 a.m. The journey was for 3 hours 55 minutes. At what

time did the bus reach Chennai?
e. My Christmas holidays started on 21 December and ended on the 4 January. For how

many days were the holidays?

ADDITIONAL
Worksheet 1




